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𝝉

𝜏 = 2,1 µ𝑠

𝑡𝑟 = 1,3 µ𝑠

𝑉𝑝 = √2 × 𝑉𝑟𝑚𝑠

𝑉𝑝 = √2 × 230 𝑉 ≈ 325 𝑉 
 



𝑓1 =
1

𝜋 × 𝜏

𝑓1 =
1

𝜋 × 2,1 µ𝑠
= 151,58 𝑘𝐻𝑧 

𝑓2 =
1

𝜋 × 𝑡𝑟

𝑓1 =
1

𝜋 × 1,3 µ𝑠
= 244,85 𝑘𝐻𝑧 

𝑉3 =
2 × 𝑉𝑝

𝜋
× (

𝑓0

𝑓𝑛=3
)

𝑉3 =
2 × 325 𝑉

𝜋
× (

75 𝑘𝐻𝑧

225 𝑘𝐻𝑧
) ≈ 68,97 𝑉

𝑓1                                𝑓2      

2𝑉𝑝𝜏

𝑇
      



𝐼𝑐𝑚 =
𝑉3

𝑋𝑐

𝐼𝑐𝑚 = 𝑉3 × 2𝜋𝑓𝐶

𝐼𝑐𝑚 = 68,97 𝑉 × 2𝜋 × 225 𝑘𝐻𝑧 × 20 𝑝𝐹 ≈ 1,95 𝑚𝐴

𝑍 = 50 Ω ∥  50 Ω = 25 Ω

𝑉𝑐𝑚 = 𝑍 × 𝐼𝑐𝑚 = 25 Ω × 1,95 mA = 48,75 mV

𝑉𝑑𝑏µ𝑉 = 20 × 𝑙𝑜𝑔 (
48,75 𝑚𝑉

1µ𝑉
) = 93,76 𝑑𝐵µ𝑉

𝐷ä𝑚𝑝𝑓𝑢𝑛𝑔 𝐴 = 93,76 𝑑𝐵µ𝑉 − 66 𝑑𝐵µ𝑉 + 3 𝑑𝐵µ𝑉 = 31 𝑑𝐵µ𝑉

𝑓𝑐 = 𝑓𝑛=3 × 10
−𝐴
40 = 225 𝑘𝐻𝑧 × 10

−31
40 = 37,78 𝑘𝐻𝑧

 



𝐼𝑚𝑎𝑥 = (
𝑃

𝜂
) ÷ 𝑉𝑚𝑖𝑛 = (

100 𝑊

0,85
) ÷ 150 𝑉𝐴𝐶 = 1,02 𝐴

𝑓𝑐 =
1

2𝜋 × √𝐿 × 𝐶

 

― Impedance push-pull 

― Impedance common mode 

 



𝐶𝑦 =
1

(2𝜋 × 𝑓𝑐)2 × 𝐿𝑐𝑚

𝐶𝑦 =
1

(2𝜋 × 37,78 𝑘𝐻𝑧)2 × 4 𝑚𝐻
≈ 4,4 𝑛𝐹

𝐶𝑥 =
1

(2𝜋 × 𝑓𝑐)2 × 𝐿𝑙𝑒𝑎𝑘

𝐶𝑥 =
1

(2𝜋 × 36 𝑘𝐻𝑧)2 × 26,6 µ𝐻
≈ 667,17 𝑛𝐹




